
ACCELERATION DUE TO GRAVITY 

The acceleration due to gravity is tabulated here as a function 
of latitude and height above the earth’s surface. Values were calcu-
lated from the expression

 g/(m/s2) = 9.780356 (1 + 0.0052885 sin2 φ – 0.0000059 sin2 2 φ) 
– 0.003086 H

where φ is the latitude and H is the height in kilometers.

Reference
Jursa, A. S., Ed., Handbook of Geophysics and the Space Environment, 4th 
ed., Air Force Geophysics Laboratory, 1985, p. 14–17.

φ H = 0 H = 1 km H = 5 km H = 10 km
0 9.78036 9.77727 9.76493 9.74950
5 9.78075 9.77766 9.76532 9.74989
10 9.78191 9.77882 9.76648 9.75105
15 9.78381 9.78072 9.76838 9.75295
20 9.78638 9.78330 9.77095 9.75552
25 9.78956 9.78647 9.77413 9.75870
30 9.79324 9.79016 9.77781 9.76238
35 9.79732 9.79424 9.78189 9.76646
40 9.80167 9.79858 9.78624 9.77081
45 9.80616 9.80307 9.79073 9.77530
50 9.81065 9.80757 9.79522 9.77979
55 9.81501 9.81193 9.79958 9.78415
60 9.81911 9.81602 9.80368 9.78825
65 9.82281 9.81972 9.80738 9.79195
70 9.82601 9.82292 9.81058 9.79515
75 9.82860 9.82551 9.81317 9.79774
80 9.83051 9.82743 9.81508 9.79965
85 9.83168 9.82860 9.81625 9.80082
90 9.83208 9.82899 9.81665 9.80122
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